ECE 300

Signals and Systems

Homework 8
Due Date:  Tuesday, Oct 29
Problems 
1. Using only your Fourier Transform tables, complete the FT pairs given below.  (You may check your work using hand analysis or Maple.)
a. 
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2. An ideal lowpass filter is one for which the frequency response is a constant for frequencies less than the cutoff frequency and zero for frequencies above cutoff, i.e.
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a) Find the inverse Fourier transform of H(), which is the impulse response h(t).

b) Using the impulse response h(t), determine whether the ideal lowpass filter is causal?

c) Now find the inverse Fourier transform of a new frequency response H1() given below, and identify the physical role of the parameter t0.
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d) For what values of t0 is the impulse response h1(t) essentially causal?  

3. Practice using the convolution property of the Fourier transform.

a. Using the convolution integral, evaluate 
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b. Using only your Fourier transform table and the convolution property, find the transform of the triangle function 
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c. Use the duality property to find the inverse Fourier transform of the spectrum 
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4. 
O&W, problem 4.28 b (iii and vi)  
�Skip this one for now





_1096801018.unknown

_1097306254.unknown

_1097306301.unknown

_1097309066.unknown

_1096801141.unknown

_1096801164.unknown

_1096801097.unknown

_1096719493.unknown

_1096719510.unknown

_1096719019.unknown

_1096719482.unknown

_1096718795.unknown

